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²é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»ÉÇë Ûáõñ³ù³ÝãÛáõñÇó å»ïù ¿ ÁÝïñ»É ³ÛÝ ï³ñµ»ñ³ÏÁ, 
áñÁ Ò»ñ Ï³ñÍÇùáí ×Çßï å³ï³ëË³ÝÝ ¿, ¨ å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ Ñ³Ù³å³ï³ëË³Ý 
Ù³ëáõÙ Ï³ï³ñ»É ÝßáõÙ: 

ÊáñÑáõñ¹ »Ýù ï³ÉÇë ³é³ç³¹ñ³ÝùÝ»ñÁ Ï³ï³ñ»É Áëï Ñ»ñÃ³Ï³ÝáõÃÛ³Ý: àõß³¹Çñ 
Ï³ñ¹³ó»°ù Ûáõñ³ù³ÝãÛáõñ ³é³ç³¹ñ³ÝùÇ å³Ñ³ÝçÁ ¨ å³ï³ëË³ÝÝ»ñÇ ³é³ç³ñÏíáÕ 
ï³ñµ»ñ³ÏÝ»ñÁ: ºÃ» Ò»½ ãÇ Ñ³çáÕíáõÙ áñ¨¿ ³é³ç³¹ñ³ÝùÇ ³ÝÙÇç³å»ë å³ï³ëË³Ý»É, 
Å³Ù³Ý³ÏÁ ËÝ³Û»Éáõ Ýå³ï³Ïáí Ï³ñáÕ »ù ³ÛÝ µ³ó ÃáÕÝ»É ¨ ¹ñ³Ý ³Ý¹ñ³¹³éÝ³É ³í»ÉÇ 
áõß: 
 

Ò»ñ ³éç¨ ¹ñí³Í Ã»ëï-·ñùáõÛÏÇ ¿ç»ñÇ ¹³ï³ñÏ Ù³ë»ñÁ ³½³ïáñ»Ý Ï³ñáÕ »ù 
û·ï³·áñÍ»É ë¨³·ñáõÃÛ³Ý Ñ³Ù³ñ: Â»ëï-·ñùáõÛÏÁ ãÇ ëïáõ·íáõÙ: êïáõ·íáõÙ ¿ ÙÇ³ÛÝ 
å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃáõÕÃÁ: 

²é³ç³¹ñ³ÝùÝ»ñÁ  Ï³ï³ñ»Éáõó Ñ»ïá ãÙáé³Ý³ù å³ï³ëË³ÝÝ»ñÁ áõß³¹Çñ ¨ 
ËÝ³Ùùáí Ýß»É å³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃáõÙ: ä³ï³ëË³ÝÝ»ñÇ Ó¨³ÃÕÃÇ ×Çßï Éñ³óáõÙÇó ¿ 
Ï³Ëí³Í Ò»ñ ùÝÝ³Ï³Ý ÙÇ³íáñÇ ×ßïáõÃÛáõÝÁ: 
 

ò³ÝÏ³ÝáõÙ »Ýù Ñ³çáÕáõÃÛáõÝ: 
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Level A 
 

I  Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
               Read the text and answer the questions choosing the right option. 
 

1.  Wrigley's chewing gum was actually developed as a premium to be given away with other products rather  
2.  than as a primary product for sale. As a teenager, William Wrigley Jr. was working for his father in Chicago selling  
3. soap that had been manufactured in his father's factory. The soap was not very popular with merchants because  
4. it was priced at five cents, and this selling price did not leave a good profit margin for the merchants. Wrigley  
5. convinced his father to raise the price to ten cents and to give away cheap umbrellas as a premium for the  
6. merchants. This worked successfully, confirming Wrigley that the use of premiums was an effective sales tool. 
7.  Wrigley then established his own company; in his company he was selling soap as a wholesaler, giving            
8.  baking soda away as a premium, and using a cookbook to promote each deal. Over time, the baking soda and      
9.  cookbook became more popular than the soap, so Wrigley began a new operation selling baking soda. He began  
10. hunting for a new premium item to give away with sales of baking soda; he soon decided on chewing gum. Once  
11. again, when Wrigley realized that demand for the premium was stronger than the demand for the original  
12. product, he created the Wm. Wrigley Jr. Company to produce and sell chewing gum. 
13.  Wrigley started out with two brands of gum, Vassar and Lotta Gum, and soon introduced Juicy Fruit and  
14. Spearmint. The latter two brands grew in popularity, while the first two were phased out. Juicy Fruit and  
15. Spearmint are two of Wrigley's main brands to this day.  

 
It is indicated in paragraph 1 that young William was working 
  
a) in a Chicago factory 
b) as a chewing gum salesman 
c) as a soap salesman  
d) in his father's factory  
 
According to paragraph 1, the soap that young Wrigley was selling 
  
a) was originally well-liked 
b) was originally priced at ten cents  
c) originally provided much profit for merchants  
d) eventually became more popular with merchants  
 
According to paragraph 2, it is NOT true that, when Wrigley first founded his own 
company, he was  

 
a) selling soap 
b) selling chewing gum 
c) giving away cookbooks 
d) using baking soda as a premium  
 
Paragraph 2 discusses that Wrigley later  
 
a) published a cookbook  
b) used chewing gum as a premium to sell baking soda 
c) sold chewing gum and a cookbook 
d) used baking soda as a premium to sell chewing gum 
 
According to paragraph 3, the Wm. Wrigley Jr. Company did all of the following EXCEPT  
 
a) begin with two brands of gum 
b) add new brands to the original two 
c) phase out the last two brands 
d) phase out the first two brands  

1 

2 

3 

4 

5 
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II Տեքստում բաց են թողնված նախադասություններ: 
 Լրացնել տեքստը՝ տեղադրելով համապատասխան նախադասությունը: 
 Fit the missing sentences into the numbered gaps of the following text. 
 

Once a year a race is held for old cars. Last year a lot of cars entered for this race. 
6____________. And the most moving thing about it was the fact that most cars were very 
unusual. The most unusual car was a Benz which had only three wheels and was the oldest 
car taking part. After a great many loud explosions, the race began. Most cars broke down 
on the course. 7 __________. A few cars, however, completed the race. 8 __________. The 
winning car reached a speed of forty miles an hour. It seems funny to boast on such a speed. 
9__________. It sped downhill at the end of the race and its driver had a lot of trouble trying 
to stop it. The race gave everybody great pleasure. 10________. 
 
 
 
a) So, there was a great deal of excitement just before it began. 
b) So, nobody was interested in it. 
c) So, many accidents happened just before it began. 
d) So, unfortunately, the race was cancelled. 

 
 
 
a) Some drivers were extremely happy with the fact. 
b) Some drivers spent more time under the cars than in them. 
c) Some drivers sold their cars. 
d) Some drivers changed their cars with new ones. 

 
 
 

a) People got upset seeing the most handsome car- a Rolls Royce Silver Ghost among 
them. 

b) The owners of the cars left the race immediately. 
c) In spite of the efforts the drivers made no cars were able to come to the finish. 
d) Everybody was delighted to see that the most handsome car- a Rolls Royce Silver Ghost 

was among them.  
 

 
 

a) Yet, it was much faster than any of its rivals. 
b) Yet, it didn’t manage to complete the race. 
c) Yet, its rivals could overtake it on the halfway of the road. 
d) Yet, it was the slowest car of the race. 

 
 
 

a) It was just like the race of modern cars and bored everyone present. 
b) It proved once more that this kind of races is absolutely useless. 
c) It was very different from modern car races but no less exciting. 
d) It gave us the conviction that old cars should be destroyed. 

 
 
 

6 

7 

8 

9 

10 
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III Ընտրել ճիշտ բայաձևը: 
 Choose the right verb form. 
 
 When I was a little boy I (11)______a passion for maps. I looked for hours at South America 

or Africa and (12)______ myself in the glories of exploration. At that time there were many  
blank spaces on the earth, and when I saw one that (13)__________ particularly inviting on 
a map I would put my finger on it and say, “When I (14)___________, I will go there.” 
 
 
 
a) have 
b) had 
c) had had 
d) were having 
 
 
 
a) lost 
b) was losing 
c) have lost 
d) had been losing 
 
  
  
a) looks 
b) looked 
c) will look 
d) has looked 

 
 
  

a) will grow up 
b) grew up 
c) grow up 
d) has grown up 

 

11 

12 

13 

14 
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One of the greatest advances in modern technology (15)________ the invention of 
computers. They help us, fascinate us and occasionally scare us. The latest fear 
(16)__________ children and computers. Some experts claim that brothers and sisters 
(17)_________ to play more with computers than with one another. 
 

 
 

a) have been 
b) has been 
c) had been 
d) are 
 

 
 

a) is concerning 
b) has been concerned 
c) concerns 
d) was concerned 
 

 
 

a) are starting 
b) had started 
c) has started 
d) starts 

 
The giant panda is probably the most valuable and popular zoo animal. They (18)__________  
in the mountains of Western China. About 1000 giant pandas still survive in the wild, but only 
few were ever seen alive outside China. In 1961 it (19)_______ as the symbol of the World 
Wildlife Fund and the panda (20)__________ a familiar sight on T-shirts, badges and car 
stickers since then. 
 
 
 
a) live 
b) has been living 
c) will live 
d) lived 
 

 
 

a) adopted 
b) was adopted 
c) has been adopted 
d) had been adopted 
 

 
 

a) have become 
b) is becoming 
c) becomes 
d) has become 

 

15 

16 

17 

18 
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20 
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IV  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
     Choose the appropriate option. 

 
“I can’t stand hot weather!” 
“--------------  . Dreadful, isn’t it?” 

 
a) So can’t I. 
b) Neither can I. 
c) So I can’t. 
d) Nor I can. 
 
“Did you go to the museum with your friend?” 
“No, I went there ____________ 

 
a) by my own 
b) on myself 
c) with myself 
d) by myself 
 
“Is your dog afraid of me?” 
“A little. It’s not used to ___________.” 

 
a) be petted 
b) be petting 
c) being petted 
d) pet 
 
“How old are you?” 
“I am _______ you are.”  

 
a) the same age as 
b) as same as 
c) the same old as   
d) the same age than 
 
”Would you like some more coffee?” 
“Just __________, thank you.” 

 
a) little 
b) some 
c)  a little 
d) a few 
 
“How do you like the book?” 
“It’s fantastic! The more I read it____ I get in it.” 

 
a) the more interesting 
b) the more interested 
c) the most interested 
d) the most interesting 

21 

22 

23 

24 

25 

26 
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“Some teenagers own cars when they’re still at high school.” 
“Our son’s friend ________ one.” 

 
a) drive 
b) have 
c) do 
d)  has 
 
It took us a long time to get there. It was a ______ journey. 
 
a) three hour’s 
b) a three hours’ 
c) three -hour 
d) three – hours 
 
“Why did you refuse to lend Ann money?” 
“Because I didn’t want to risk __________.” 

 
a) to lose it 
b) to lose them 
c) losing it 
d) lose it 
 
“What a nice photograph! I like it so much!” 
“Tomorrow I am going ___________.” 

 
a) to have enlarged it 
b) to have it enlarge 
c) to make it enlarges 
d) to have it enlarged 

 

27 

28 

29 

30 
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V  Ընտրել համատեքստին համապատասխանող ձևը: 
    Fill in the blanks with the best choice. 
 

The man who invented the game of basketball Dr. James Naismith, was looking (31) ---------
----- a way for boys to let off steam during the long winter months. Because it was cold 
outside, the boys (32)------------- play some kind of indoor sport, so Dr. James Naismith  
came up (33) ------------- basketball. The next year, a female professor adopted the rules to 
make the game less physically demanding for women. Shortly after that, basketball spread 
around the world. By the 1950s, the international men’s and women’s basketball federations 
were holding (34) ---------- world championship matches. Over the past fifty years (35) ------
----- American and Russian teams have dominated the women’s championships, but that 
(36)----------- change in the future. 
 
 
 
a) after 
b) for 
c) through 
d) forward 

 
 
 
a) can 
b) might 
c) had to 
d) have to 

 
 
 
a) with 
b) to 
c) along 
d) over 
 
 
 
a) the 
b) a 
c) this 
d) an 
 
 
 
a) that 
b) the 
c) – 
d) an 
 
 
 
a) ought to 
b) should 
c) will have to 
d) may 

31 

32 

33 

34 
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VI  Ընտրել համատեքստին համապատասխանող խոսքիմասային ձևը: 
   Fill in the blanks with the word form that best fits each space.  
 
The Louvre, the national art museum of France and the palace in which it is (37)_________ , is 
located in Paris, on the right  bank of the Seine River. The structure, until 1682 a (38)__________ 
of the kings of France, is one of the largest palaces in the world. It (39)______ the site of a 13 th-
century fortress. Building of the Louvre began in 1546. (40)____________were made to the 
structure during the reigns of almost every French (41)_________. Under Henry IV, in the early 
17th century, the Grande Galerie, now the main picture gallery, which borders the Seine, was 
completed. By the mid-19 th century the vast complex was built; covering more than 19 hectares, it 
is a masterpiece of architectural design. 

 
 
   

a) house        
b) home       
c) housed            
d) homeland       
       
 
 

a) residence 
b) residential  
c) resident 
d) reside 

 
 
 

a) occupant  
b) occupying 
c) occupancy 
d) occupies 

 
 
 

a) additional  
b) adds 
c) additions 
d) adding 

 
 
 

a) monarchic 
b) monarch 
c) monarchal  
d) monarchy 

 

37 

38 

39 

40 
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VII  Նշել, թե ուղղակի խոսքի փոխակերպման որ տարբերակն է ճիշտ: 
        Which of the options provided is the best choice for reported speech? 

 
“Don’t lean your bicycles against my windows, boys”, said the shopkeeper. 
 
a) The shopkeeper told the boys not to lean their bicycles against his windows. 
b) The shopkeeper said the boys not to lean their bicycles against his windows. 
c) The shopkeeper told not to lean their bicycles against his windows. 
d) The shopkeeper told the boys not lean their bicycles against his windows. 
 
John said: “I am sorry, Sally, I forgot to tell you about it.” 
 
a) John apologized that he was sorry to forget to tell Sally about it. 
b) John apologized to Sally and said that he had forgotten to tell her about it. 
c) John told Sally that he is sorry that he forgot to tell her about it. 
d) John said to Sally that he forgot to tell her about it. 
 
He said he couldn’t help me as he was very busy then. 
 
a) He said: “I couldn’t help you and I was very busy then.” 
b) “I can’t help you. I am very busy now,” he said. 
c) “I can’t help you. I am very busy now,” he asked me. 
d) He told: “I couldn’t help you. I am busy now”. 
 
Peter said: “When do I have to take the book back?” 
 
a) Peter wondered when he has to take the book back. 
b) Peter asked when did he have to take the book back. 
c) Peter asked when I had to take the book back. 
d) Peter wanted to know when he had to take the book back. 
  
 “Do you know that the shoes you are wearing aren’t a pair?” I asked him. 
 
a) I  asked him if he knew that the shoes he was wearing weren’t a pair. 
b) I asked him did he know that the shoes he was wearing weren’t a pair. 
c) I asked him if he knew that the shoes he were wearing weren’t a pair. 
d) I asked him if he had known that the shoes he was wearing weren’t a pair. 

 

42 

43 

44 

45 

46 
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VIII  Նշել, թե հետևյալ հարցերից որոնք են քերականորեն ճիշտ: 
      Which of the following questions is grammatically correct?  

 
Which is the best question for the following sentence? 
No, they lacked the money. 

 
a) Did they get the new car they wanted? 
b) Why didn’t they get the new car they wanted? 
c) Did they get or sell the new car? 
d) They lacked the money, didn’t they? 
 
Which is the best question for the underlined part? 
It took them half an hour to decorate the room. 
 
a) How much it took them to decorate the room?  
b) How long did it take them to decorate the room? 
c) What time did they decorate the room? 
d) How long time did it take them to decorate the room? 
 
Which of the following questions is correctly formulated? 
 
a) What do you think who did he want to speak to yesterday? 
b) What do you think who he wants to speak to yesterday? 

       c) Who do you think he wanted to speak to yesterday? 
       d) Who do you think did he want to speak to yesterday? 

 
Which is the best ending for the following question? 
He had to spend most of his time helping his friends, _________? 

 
a) didn’t he? 
b) had he? 
c) hadn’t he? 
d) did he? 

47 

48 

49 

50 
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Level B 
 

IX  Կարդալ տեքստը և պատասխանել հարցերին՝ ընտրելով ճիշտ տարբերակը: 
       Read the text and answer the questions choosing the right option. 
 
1.   The hippopotamus is the third largest land animal, smaller only than the elephant and the rhinoceros. Its  
2. name comes from two Greek words which mean “river horse”. The long name of this animal is often shortened to  
3. the easier to handle term “hippo”. 
4.  The hippo has a natural affinity for the water. It does not float on top of water, instead, it can easily walk  
5. along the bottom of a body of water. The hippo commonly remains underwater for three to five minutes and has  
6. been known to stay under for up to half an hour before coming up for air. 
7.   In spite of its name, the hippo has relatively little in common with the horse and instead has a number of  
8. interesting similarities in common with the whale. When a hippo comes up after a stay at the bottom of a lake or  
9. river, it releases air through a blowhole, just like a whale. In addition, the hippo resembles the whale in that they  
10. both have thick layers of blubber  for protection and they are almost completely hairless. 

 
The passage most likely discusses 
 
a) the largest land animal 
b) the derivations of animal names 
c) the characteristics of the hippo 
d) the relation between the hippo and the whale 
 
It can be inferred from the passage that the rhinoceros is 
 
a) smaller than hippo 
b) equal in size to the elephant 
c) a hybrid of the hippo and the elephant 
d) one of the two largest types of land animals 
 
The word its in line 1 refers to 
 
a) hippopotamus 
b) elephant 
c) rhinoceros 
d) horse 
 
It can be inferred from the passage that the hippo is commonly called a “hippo” because the 
word “hippo” is 

 
a) simpler to pronounce 
b) scientifically more accurate 
c) the original name 
d) easier for the animal to recognize 
 
The word “float” in line 4 is closest in meaning to 
 
a) sink 
b) drift 
c) eat 
d) jump 

51 
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According to the passage, what is the maximum time that the hippos have been known to 
stay underwater? 

 
a) three minutes 
b) five minutes 
c) thirty minutes 
d) ninety minutes 
 
The expression “has relatively little in common” in line 7 could best be replaced by 
 
a) has not any common features 
b) is not formally found 
c) has minimal experience 
d) shares few similarities 
 
The passage states that one way in which a hippo is similar to a whale is that 
 
a) they both live on the bottoms of rivers 
b) they both have blowholes 
c) they are both named after horse 
d) they both breathe underwater 
 
The word “ blubber” in line 10 is closest in meaning to 
 
a) fat 
b) metal 
c) water 
d) skin 
 
The passage states that the hippo does NOT 
 
a) like water 
b) resemble the whale 
c) have a protective coating 
d) have much hair 

 

56 
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X  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 
    Choose the right completion.  

 

The adder is a very dangerous snake _____ bite may prove fatal to humans. 
 

a) it’s 
b) whom its 
c) that 
d) whose 
 

______ were first viewed through a telescope by Galileo. 
 

a) Jupiter has four moons 
b) Jupiter’s four moons 
c) Jupiter surrounded by four moons 
d) Surrounded by four moons, Jupiter 
 

____________ her father’s advice, Sarah Daole chose medicine as her course of studies.  
 

a) although 
b) until 
c) despite 
d) in spite 
 

When travelling it is advisable to write your name and address on your bag _____. 
 

a) unless you lose it 
b)  if you lose it 
c) when you lose it 
d) in case you lose it 
 

Yesterday Jack was having a party but Sheila couldn’t come, _____ was a pity. 
 

a) this 
b) which 
c) it 
d) what 
 

____ you water the flowers every day and take care of them the garden will soon become a 
pleasant place. 

 

a) Provided that 
b) Until 
c) Nevertheless 
d) Even if 
 

Spiders are not insects, as many people think.  _____, they are not even related to them. 
 

a) Even though 
b) Consequently 
c) Moreover 
d) However 
 

____ about the need to educate people on recycling, the speaker stressed the importance of 
conserving paper 

 

a) During talking 
b) While talking 
c) As talking 
d) In the event of talking 

61 
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XI  Կարդալ տեքստը և ընտրել բովանդակությանը համապատասխանող բառը: 
     Read the text below and choose the word that best fits each space. 
 

The ideal breakfast, say scientists, is a glass of orange juice, a cup of coffee and a bowl of cereal. 
People who start the day with a drink of vitamin C, a dose of caffeine and their favorite cereal are 
happier and perform better (69)___________ the morning. Andy Smith, of the University of Bristol, 
said, “ A study of 600 people who were asked to record their breakfast (70)_________ found that 
those who regularly ate cereal in the morning had a  more positive mood compared with those who 
ate other foods or had no breakfast. Earlier research had shown that people whose (71)_________ 
performance was measured (72)_________ after eating breakfast of any kind performed 10 percent 
better on test of remembering, speed of response and (73)________ to concentrate, compared with 
those given only a cup of decaffeinated coffee.” 
In further research, Professor Smith said that people who drank four cups of coffee a day performed 
more (74)____________ all day than those who drank less. He suggested that sensible employers 
should give out free coffee or tea. 
 
 
 

a) while 
b) throughout 
c) when 
d) along 
 
 
 

a) ways 
b) traditions 
c) uses 
d) habits 
 
 
 

a) sensible 
b) mental 
c) social 
d) physical 
 
 
 

a) later 
b) suddenly 
c) following 
d) immediately 
 
 
 

a) power 
b) skill 
c) ability 
d) strength 
 
 
 

a) well 
b) better 
c) efficiently 
d) profitably 

69 

70 

71 

72 

73 

74 



 16

XII  Գտնել ավելորդ բառը: 
      Find the odd word. 

 
Major advertising companies have traditionally volunteered its time to public service 
accounts. 

 
a) its 
b) traditionally 
c) advertising 
d) public 
 
The railroad was one of the first methods of transportation is to be used in early American 
history. 

 
a) is 
b)  one 
c) to be used 
d) the first 
 
An alligator is an animal somehow like a crocodile, but with a broad, flat snout. 
 
a) flat 
b) a 
c) but 
d) somehow 
 
Mary Harris Jones, known as “Mother Jones”, was a much prominent figure in the labor 
movement at the turn of the century. 

 
a) much 
b) at the turn 
c) a 
d) known 
 
The first professional baseball game it took place in 1846 when the New York Nine 
defeated the New York Knickers. 

 
a) the first 
b) it 
c) when  
d) defeated 
 
On February 20, 1962, “Friendship 7” has orbited the Earth in a manned  flight that lasted 
just under five hours. 

 
a) manned 
b) has  
c) lasted  
d) flight 
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